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Graphing Quadratic |neq ua]ities
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s Solve each Quadratic Inequality. Write your solution in interval notation, 69 ( )
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Application of Quadratic and Linear Inequalities

28. Eachyear the

‘Rock the Vote’ committee organizes a public rally. ¢
ded that the income from

Based on previous years, the organizers deci

e equation

ticket sales, I(t), is related to ticket price (t) by th
I(t) = —50t% + 500¢. Cost, C(t), of operating the public event is
also related to ticket price (t) by the equation C(t) = —50t + 500.
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greater than the income from ticket sales.
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